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THE INSTITUTE OF BANKERS, BANGLADESH (IBB)
- 96th Banking Professional Examination, 2023
AIBB
Management Accounting (MA)

SubjectCode: | 2 | 0| 9

Time—3 hours and 30 minutes
Full marks—100
Pass marks—45

[N.B. The figures in the right margin indicafe Sull marks. Answer any five questions. Different parts of a
question should be answered in the same place. Use of a calculator in the examination hall is permissible.]

1. (a) Describe the scope of Management Accounting. ) . ' 4
(b) How does Management Accounting help in decision making process in the banking sector? 5
Explain with relevant examples. ) ) )
(c) What are the major differences between Financial Accounting and Management Accounting? 6
(d) “Management Accounting is not mandatory by law”— Do you agree or disagree? Write « 5
down your logic in favour of your answer.
2. (a) Define break-even point. How does beak-even analysis help credit officer in taking lending decision? 6
(b) Write down the assumption of Cost-Volume Profit (CVP) analysis? 4
(c) Differentiate between contribution margin and gross margin. 4
(d) The following information relates to product ‘Beta’ :

Taka
Selling Price Per Unit 100
Variable cost per unit 56
Fixed cost 2,20,000

Budgeted sales are 7500 Units
Required :

(i) Calculate the break-even point in terms of Units sold and overall sales Revenue. 4
(i) Calculate the Margin of safety (expressed as a % of budgeted sales). 2
3. (a) “The variable cost per unit varies with output, whereas the fixed cost per unit is constant”— 4
Do you agree? Explain.
(b) Describe Prime cost and conversion cost with relevant examples. 4
(c) The following information has been taken from the accounting records of Alif Corporation
for the year 2022 :
Taka
Selling Expenses 1,40,000
Raw Materials Inventory, January | _ 90,000
Raw Materials Inventory, December 31 60,000
Direct labour cost 1,50,000
Purchase of Raw Materials 7,50,000
Sales 25,00,000
Administrative Expenses 2,70,000
Manufacturing overhead 6,40,000
Work in process inventory January 1 1,80,000
Work in process inventory, December 31 1,00,000
Finished goods inventory, January | 2,60,000
Finished goods inventory, December 31 2,10,000
Management wants those data organized in a better format so that financial statements can be
prepared for the year. :
Required :
(i) Prepare a schedule of cost of goods manufactured. Assume raw materials consists 6
_ entirely of direct materials.
(ii) Compute the cost of goods sold. 2
(iii) Prepare an Income statement. 4
4. (a) Discuss the utility of cash budget as a tool of cash management. What are the steps involved 6
in the constraction of a cash budget.
(b) The following results are expected by XYZ Ltd. by quarters next year, in thousands of Tk : 14
Particulars Quarter
1 2 3 4
Sales 7,500 10,500 18,000 10,500
cash payments :
Production costs 7,000 10,000 8,000 8,500
Selling, administrative :
and other costs 1,000 2,000 2,900 1,600
Purchases of plant and
Other fined assets 100 1,100 2,100 2,100
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1. (a) Describe the scope of Management Accounting. ' ' ’
(b) How does Management Accounting help in decision making process in the banking sector?
Explain with relevant examples. X . ) '
(c) What are the major differences between Financial Accounting and Management Accounting?

(d) “Management Accounting is not mandatory by law”— Do you agree or disagree? Write -

down your logic in favour of your answer. .
2. (a) Define break-even point. How does beak-even analysis help credit officer in taking lending decision?
(b) Write down the assumption of Cost-Volume Profit (CVP) analysis?
(c) Differentiate between contribution margin and gross margin.
(d) The following information relates to product ‘Beta’ :

Taka
Selling Price Per Unit 100
Variable cost per unit 56
Fixed cost 2,20,000

Budgeted sales are 7500 Units
Required :
(i) Calculate the break-even point in terms of Units sold and overall sales Revenue.
(ii) Calculate the Margin of safety (expressed as a % of budgeted sales).

3. (a) “The variable cost per unit varies with output, whereas the fixed cost per unit is constant”™—
Do you agree? Explain.
(b) Describe Prime cost and conversion cost with relevant examples.
(c) The following information has been taken from the accounting records of Alif Corporation

for the year 2022 :
Taka

Selling Expenses 1,40,000
Raw Materials Inventory, January | 90,000
Raw Materials Inventory, December 31 © 60,000
Direct labour cost 1,50,000
Purchase of Raw Materials 7,50,000
Sales 25,00,000
Administrative Expenses 2,70,000
Manufacturing overhead 6,40,000
Work in process inventory January 1 1,80,000
Work in process inventory, December 3 | 1,00,000
Finished goods inventory, January 1 2,60,000
Finished goods inventory, December 31 2,10,000

Management wants those data organized in a better format so that financial statements can be

prepared for the year. -

Required :

(i) Prepare a schedule of cost of goods manufactured. Assume raw materials consists
entirely of direct materials.

(i) Compute the cost of goods sold.
(iii) Prepare an Income statement.

4. (a) Discuss the utility of cash budget as a tool of cash management. What are the steps involved
in the constraction of a cash budget.

(b) The following results are expected by XYZ Ltd. by quarters next year, in thousands of Tk :

Particulars Quarter
1 2 3 4

Sales 7,500 10,500 18,000 10,500
cash payments :
Production costs 7,000 10,000 8,000 8,500
Selling, administrative :
and other costs 1,000 2,000 2900 1,600
Purchases of plant and
Other fined assets 100 1,100 2,100 2,100
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The debtors at the end of a quarter are one-third of sales for the quarter. The opening balance of

debtors is Tk. 30,00,000. Cash on hand at the beginning of the year is Tk. 6,50,000 and the
desired minimum balance is Tk. 5,00,000, Borrowings are made at the beginning of quarters in

which the need will occur in multiples of Tk. 10,000 and are repaid at the end quarters. Interest
changes may be ignored. You are required to prepare :

(i) A cash budget by quarters for the year; and
(ii) State the amount of loan outstanding at the end of the year. Show your computations.

5. (a) What s capital budgeting? What are the steps in capital budgeting process?

(b) Botany International is attempting to evaluate the feasibility of investing Tk. 95,000 in a

piece of equipment that has a § year life. The firm has estimated the cash inflows associated
with the proposal as shown in the following table. The firm has a 12% cast of capital.

Year Cash inflow (Taka)
1 20,000
2 25,000
3 30,000
4 35,000
5 40,000

Required :

(1) Calculate the payback period for the Proposed Investment.

(if) Calculate the Net Present Value (NPV) for the proposed Investment.
(iii) Calculate the Internal Rate of Return (IRR), rounded to the nearest whole percent for the

* proposed Investment.

(iv) Evaluate the acceptability of the proposed Investment using NPV and IRR. What
recommendation would you make relative to implementation of the project? Why?

6. (a) “A company may be profitable, but if it does not have an adequate. Cash position it may not
be able to survive”. —Explain the statement.

(b) The comparative Balance sheets of Rose Corporation as of December 31 are presented below :
Rose Corporation

Comparative Balance sheet

As on December, 31

Assets

Cash

Accounts Receivable
Inventory

Prepaid Expenses
Land

Equipment

Accumulated depreciation equipment

. Building

Accumulated depreciation- building

Total Assets

Stockholders equity and liabilities

Common stock, Tk. | par
Retained earnings

Bonds Payable

Accounts payable

Total stockholder equity and liabilities

Additional Information :

2022 (Tk.) 2021 (Tk.)
71,000 45,000
44,000 62,000
1,51,450  1,42,000

15,280 21,000
1,05,000  1,30,000
2,28,000  1,55,000
(45,000)  (35,000)
2,00,000  2,00,000
(60,000)  (40,000)
7,09,730  6,80,000
2,00,000  1,60,000
2,02,000  1,80,000
2,60,000  3,00,000
- 47,730 40,000
7,09,730  6,80,000
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(i) Operating expenses include depreciation expenses of Tk. 42,000 and charges from
prepaid expenses of Tk, 5720.

(ii) Land was sold for cash at book value.
(iii) Cash dividends of Tk. 15,000 were paid.
(iv) Net Income for 2022 was Tk. 37,000.

(v) Equipment costing Tk. 22,000 with a book value of Tk. 10,000 was sold for Tk. 6,000 cash.
(vi) Bonds were converte at face value by issuing 40,000 shares of Tk. 1 par value of

common stock.

Required : Prepare a statement of cash flows for the year Ended December 31, 2022; using

indirect method.
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« 1. (a) Describe the factors that affect the level of working capital requirement of a company. 6
(b) Alpha Ltd. applies for loan (cash credit) from your bank. 14
Following data relates to Alpha Ltd :
Sales Revenue for year 15,00,000
Cost of percentage of sales :
Direct-Materials 30%
Direct labour 25%
Variable overheads 10%
Fixed overheads 15%
Selling and distribution 5%

Average statistics relating to working capital are as follows :
—Receivables take 2% months to pay.

—Raw materials are in inventory for 3 months.
—Work in process represents two months half produces goods.
—Finished goods represent one month’s production.

—Credit is taken.
Materials 2 months
Direct labour 1 week
Variable overheads | month
Fixed overhead 1 month
Selling and Distribution :}month

—Work in process and finished goods are valued at the cost of material, labour and variable expenses.
—Assume that the labour force is paid for 50 working weeks in each year.
Required :

Calculate the working capital Requirement for Alpha Ltd.

8. (a) What are the purpose of analyzing Financial statements of borrowers by the bank? 4
(b) Describe the limitations of Ratio Analysis. 4
(c) Below are the financial statements of Star Co. Ltd. for the year Ended 31 December 2022 :

Income statements 2022 (Amount in taka)
Revenue 1,80,000
Cost of sales (65,000)
Gross profit 1,15,000
Operating expenses (39,900)
Profit from operations 75,100
Interest Expense (12,000
Profit before Tax 63,100
Tax (17,300)
Profit for the period ' 45,800
Balance sheets 2022 (Amount in Taka)
Property plant and Equipment 2,66,200
Current Assets :
Inventory 15,000
Receivable 49,300
Total Assets 64,300
3,30,500
Share capital 1,46,700
Loans 1,50,000
Current liabilities :
Trade payables 11,700
Overdraft 9,100
Taxation 13,000
33,800
Equity and liabilities 3,30,500
Required :
Calculate the following ratios : 2x6=12

(i) Current Ratio
(ii) Quick Ratio
(iii) Receivable collection Period
(iv) Inventory Holding Period
(v) Net Profit Margin
(vi) Interest Coverage Ratio.
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9. (a) “Earning Per Share (EPS) is widely regarded as the most important indicator of a 5
company’s Performance” —Explain the statement.
(b) Ayan Co. Ltd has earnings of Tk. 3,00,000 during the year Ended 31 December, 2022. On 6

1st January 2022 company had share capital of 1,00,000 Tk. 1 shares. On | March, 2022 a
further 60,000 shares were issued at Tk. 3-25 per share.

Required :
What is the Earning Pre Share (EPS) for the year ended 31 December 20227

(c) What is P/E Ratio? How is P/E Ratio calculated?

4
(@ “There is a direct relationship between the firm’s divided policy and its market value.” 5
—Explain the statement.

10. Write short notes on any five of the followings : 4x5=20
(a) Financial leverage (b) Dividend yield
(c) Capital Rationing (d) Contribution Margin

(e) Profitability Index (f) Lease Vs Hire Purchase Finance
(g) Economic Order Quantity (EOQ) (h) Sunk cost.
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